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a) ANB = {n|nlx6DEH } =H5S, n(AN B) = 16.
b) n((ANB)UC)) =n(ANB) +n(C)—n(ANBNC)=16+20—3 =33

a)a<5
b) 6<a<7
) B C ALEDKRDE a DEBZRDNERL. ZDLDE a DEEBAE a > 8.

a) 3618 (U = {(a,b) |a, bE1H5 6 XTTHERK } 125, n(U) = 36)

b) 236 {8

c) A=1{(4,5),(4,6),(5.4),(5.5),(5,6),(6,4),(6,5),(6,6)}

d) B [B-B08HEEICBETH DI THD, n(B) =3x3=9. UIcH*>T, n(B) = n(U)—n(B) = 27.

) AN B ={(4,5,(54).(55).(56).(6,5} &0, n(ANB)=5. Pa(B) = LLER = 2U40H — 2.

(4] a = . - :
o
ks 0.9 % 4.95 % 5.85 %
=3 0.1 % 94.05 % 94.15 %
1% | 9% | 100%
b) % = 0.154(= 15.4%)

(6] A: [&EBSMHBHI, B: [MHDOBNMBHI £TDE, RHDBRE Pa(B). P(A) =32, P(ANB) =

1
P(B) = 3 IED'5, Pa(B) = 5 = 3.
4

-1 -3 - L -3 _ 1
P(4) = 4, P(B) = 3, P(C) = 5, P(ANB) = 2 = P(A)P(B), P(ANC) = == # P(A)P(C),

P(BNC) = 2—16 £ P(B)P(C). LIch'>T, AE B @®II, A& C, B & CIBRITERE.

a) X ~ B4, 1) 2h'5, E(X) =2, V(X)=1.

_ 35 _ 655
b) E(X) = 13- =1.94, V(X) = 357 =2.05
X| 0 1 2 3 | &t 12 24
<) SN EX)=-—=, V(X)= .
Plas | 3|55 ]s5]1 7 49
X | 0|50 100 | 150 | & .
B ROWLEEORFONE X ETD. WESTE - S, B = 75
4 4 4 4

(M), o(X) =25v5=559 (M)

[B(CDDK]



SNTROEDEDHE Y, ROBBEONEE Z ET5E, X =YZ. Y & Z FBESHTRIITH
2h5, E(X)=E(YZ) = E(Y)E(Z). 2LT, E(Y) = % E(Z) = 11205 E(X) = %

a) X ~ B(1000,0.05)
b) E(X) = 1000 x 0.05 = 50, V(X) = 1000 x 0.05 x (1 — 0.05) = 47.5.

X 0 1 2 3 B
a) X DEZEHTE e T ) = % V(X) = % o(X) = V475,
Plaal7|7]1a|!

~ 3y 2 -3 —ax3y2_1
b) ¥ ~ BA.H NS, E(Y) =, V(Y)=4x T =1

a) X ~ B(6,1), E(X)=2, V(X)= %, o(X) = %
b) 3 DBHEOBHLIEEL, >COHE 6 - X ZhD, ¥V =H2)X +(-1)(6-X)=3X -6
Q) E(Y) = EGX —6) =3E(X)—6=2x3-6=0, V(Y) = V3X —6) = 32V(X) = 12, o(X) = 24/3.
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